THE USE OF ADVERBIAL CLAUSE

BY THE FIRST YEAR STUDENTS

AT SMA NEGERI I BENTENG SELAYAR

(A CASE STUDY)

iy e
Tal Terimy | 18- ?..":’é

Asal l’l_.1 "fﬁl’% 5& i
San-ab +uq | _?"‘_[- PEL-‘I:E{"_]FE;@ =

TR B .
M. lawesds s I.;?-EE,’_’ ID'?_’ﬁ:% - I
A Thesis B, Bioe o |

— p——— il e
o ma e —— —i—— - e e

Submitted to the Faculty of Letters
Hasanuddin University F
In Partial Fulfillment of the Requirements
To Obtain a Sarjana Degree in English Department
By

Patmawati P,

F21102024
: Faculty of Letters
Hasanuddin University

Malassar

2006




|

Skripsi

THE USE OF ADVERBIAL CLAUSE BY THE FIRST YEAR STUDENTS AT
SMA NEGERI I BENTENG SELAYAR (A CASE STUDY)

disusun dan diajukan oleh :

PATMAWATI P.
Momor Pokok : F 211 02 024

Telah diperiahankan di depan panitia ujian skripsi pada tanggal 09 Juni 2006
Dan dinyatakan telah memenuhi syarat

Menyetujui '
Komisi Pembimbing,

Dra. Harlina Sahib, M.Hum
Ketus Angpota I

Dekan Fakultas visware,

UniversitasHasanuddin

Drs. Husain Hasyim, M.Huom Dr. H. Mubammad. Darwis, M.S

Ketua Jurusan Sastra Inggris




UNIVERSITAS HASANUDDIN

FAKULTAS SASTRA

Pada hari ini, Jum'at 09 Juni 2006. Panitia Ujian Skripsi menerima baik skripsi yang
berjudul :
THE USE OF ADVERBIAL CLAUSE
BY THE FIRST YAER STUDENTS
AT SMA NEGERI I BENTENG SELAYAR
Yang disjukan dalam rangka memenuhi salah satu syarat ujian akhir guna
memperoleh pelar Sarjana Sastra Jurusan Sastra Ingeris Pada Fakultas Sastra
Universitas Hasanuddin.
Panitia Ujtan Skripsi Makassar, 09 Juni 2006

1) Drs. M. Natsir Pagennai

2) Dira. Harlina Sahib, M.Hum

3) Drs. M. Idris Hambali, M.S,

4) Dra. Hj. Kamsinah Darwis, M.Hum

5} Drs. M. Natsir Pagennai.

&) Dra. Harlina Sahib, M.Hum.

iii




ACKNOWLEDGMENT
Bismillahirrahmanirrahim.

First of all, the writer would like to thank Allah Subhanabu Wataala, the
maost Gracious and High Merciful God, who has given her a mercy and blessing.
Then, Salam and Shalawat to Propet Mubammad Sallawlahu Alaihi Wasalam,
whao has brought human being from darkness to lightness.

In writing this thesis, the writer faced many kinds of difficulties. However,
with the guidance, assistance, motivation, suggestions, criticism and many kinds of
help from many persons, this thesis could be completed. Therefore, on this occasion,
the writer would like to express her appreciation to them,

The writer whises to express her special appreciation to her fiest and second
consultants, Drs. M. Natsir Pagennai and Dra. Harlina Sahib, M.Hum, who have
spent their time in guiding and correcting her thesis. High appreciation is also
extended to the Dean of Faculty of Letters. And of course the writer mist thank to
the Head and the Secretary of English Depariment, Drs. Husain Hasyim,
M.Hum and Drs. Simon Sitoto, M.A, and all the English Department Lecturers.
Mayhe by saying thank you is not enough but she exactly wants to say ‘thanks for
everything”, The writer also delivers her special thank to Bu Ester and Ibu Mayang,
wha have helped during her, study in this department.

A similar vote of thanks goes to the Head Master of SMA Negeri |

Henteng Selayar Drs. Tasman, who allowed the writer to do the research; and to the

English teacher and the students of the first year. 5 at SMA Negeri | Benteng




==

Selayar, who graciously and wisely spent their time to help the writer in collecting
the data.

In this opportunity, the writer wants to express her greai thanks to her
amazing parents, Alm. H. Paradjai and Hj. Radjunama for their prayer, love and
support to the writer during the years of her study. The writer loves them from the
bottom of her heart,

Special thanks are due to her beloved elder brothers and sisters: Siti
Ramlah, SE, Ros Diana, SE, Muhammad Sabri, Muhammad Yusuf, Jumria, SH
and to her younger brother: Ariamte. And also to her brother in law:
Muhammad Amir, SH, the last arc goes (o her niece and nephew: Asty Iriani,
Hanny Dwi Irianti and Pilot Indra Prasetya, who have give spirt, love and prayer
during her study at Faculty of Letters English Department Hasanuddin University.

The grateful thanks also go to her best friends, Nur Aeni and Hardiani.
Thank you for being her friends, thanks for accompanying her in happiness and
sorrow, thanks for being her family in Makassar. You are incredible friends for the
writer. She would not forget all your love, care, help and support to her. Then, to all
of her fricnds in English Department 2002: Piyu, Nonoe, Santri, Yuli, Indah,
Anti, Irma, Risma, Tina, Ratna and all of the friends that the writer cannot
write one by one. The writer really enjoys her wonderful time together with you all.

Special thanks also goes o Andy for being her special friend and someone
tor share her problems, thanks for accompanying her in happiness and sofrow, thanks

for teaching religious things and always gives support, love, help and prayer to her.




[ Sl =51

Finally, for those who have helped her but could not mention one by one,
she could only says thank you very much for your help. She really appreciates it. For
those who read this thesis, her heart is wide open for your constructive criticism,
idens and suggestions. Once again, she thanks you very much from the bottom of her
heart. May Allah Subhanahu Wataala bless us for the best.

Makassar, 2006

Patmawati Paradjai




TABLE OF CONTENTS
Page

RIS JUMIAL oo i st i ks i s e i o i
Halarman Penpesahan Konsultan ...... ..o s ii
Halaman Pengesahan Tim Penguji......vvevmerisieeciacnieen T il
ACEMOWLEDGMENT ..curcaissasssnmssnsrmnsimsnrsnssas s ssmsspasarsnss v
TABLEOF COMTEMT S o sauumseasnssn sud warsns siwns i s aastinin 65y vii
EISPOF TABEES . i bnsinsain it ciiviiiasia ix
Halarman Persembahim ..........covcveiiiiinmmiinnmsirniiesissrnsnsnsnsie X
EBTRAK s i conisimanmin ot susimissn o B AR5 A L SN L AR A BaN Xi
CHAPTER [ INTRODUCTION

B L A o ol o iR A A s 1

1.2 Identification of Problem .......cccivrmmrirmemransamsamimieniii . B

1.3 Scope of Problem .......c.oooenmiiniinmsmmminsvvnns sninsnasass ssn .

1.4 Statement of Problem .. coiceriiisiniinemsmrere s sissinssssarass 3

125 Objectives of WIting ..o, 3

1.6 Significance of WITHRE .. oeovoermmenrrinrmmrarmrsrrsnsisresiasn 3

1.7 Sequence of Chapters ....ooouivmmimmnrm e e, 4
CHAPTER Il RIVEW OF LITERATURE

2.1 Peviots Suding ..o et e s e e e e o 5

2.2 Theoritical Backpround ......oooovonreemmmeescriciiisiiniaiina, 6




2.2.1 Defenition of Clanse .......iccisvimnniansnsnsssmsa sy 6
2.2.2Defenition of CONJUCTINN .....uiaeesissassasssneinasine 8
2.2.% Defenition of Adverbial Clause ........ooovvevrmraneraseres 9
CHAPTER [ll METHODOLOGY
3.1 Ll TORamrehh iz soisaiavaanessiosb s i iR 16
3.2 Field Research .........ccooc o S R A A S 16
3.2.1 Method for Collecting Data .....coviiiiiiinniimnrmnsnnees 16

3.2.2 Method for Analyzing Data .......ooovieeiaseiasiiinnenaeas 17

3.2.3 Population and Sample ..........ciiiiinnniea 1%

CHAPTER IV PRESENTATION AND DATA ANALYSIS

4.1 Presentation and Analysis of Data [ ...coovvvnnrmnrininiiinnninn 20

4.2 Presentation and Analysis of Data L1 .....oocvvvrnnimeiicnnsaasas 42

4.3 Table 3 and Its DeSCriptiOT . iviciorersinmmamnnransarassrerssass 52
CHAPTER V CONCLUSIONS AND SUGGESTION

5.1 ConClUSIONS ....ccoivarsscinnsnrmrrnmrresnsctianmamsrsmssansar s ennis 57

5.2 BUBPESLIONS .+ v risssiasnninsinneissss sbsobnaisssasnnnnnnsiranssserss 58

BIBLIOGRAPHY ..oiuceriiismiismiinrimmrenssssesssmsinminniinnmmnsiassrnras 60




LIST OF TABLE




_-___ —

This thesis is presented to:

1. My beloved parents

2. My brothers and sisters




ABSTRAK

Thesis dengan judul™ The Use of Adverbial Clause by the First Year
Students at SMA Negeri | Benteng Selayar”, bertujuan untuk mengetahui
kemampuan para siswa dalam menggunakan klausa keterangan bahasa Ingeris dan
kesalahan apa saja yang mereka lakukan dalam membentuk klausa keterangan.

Untuk mencapai tujuan tersebut, penulis melakukan penelitian pustaka
dan penelitian lapangan guna mendapatkan teori dan data dengan cara memberikan
tes tertulis yaitu soal pilihan ganda dan soal esai yang diberikan kepada 30 siswa
kelas satw SMA Megeri | Bentenp Selayar.

Data vang telah diperoleh kemudian dianalisis denpan menggunakan
metode deskriptiil qualitatif dan guantitatif denpgan langkah-langkah sebapgai
berikut: pertama data diklasifikasikan menjadi 2 bagian yakni tes I dan test IL, kedua
memeriksa hasil tes para siswa kemudian memperlihatkan jumlah jawaban benar dan
salah dari para siswa disertai dengan alasan mengapa jawaban tersebut dikatakan
benar dan salah, langkah yang terakhir yaitu mengklasifikasikan nilai yang
diperoleh para siswa berdasarkan kriteria yang dipergunakan serta mencari nilai rata-
rata dari seluruh siswa.

Berdasarkan analisis data tersebut, maka akan diperoleh hasil scbagai
berikut: pertama, nilai tertinggi dari para siswa adalah 82, 5 dan nilai terendah
adalah 65. Kedua, kemampuan siswa rata-rata adalah baik berdasarkan nilai rata-
rata yang diperoleh para siswa adalah 71, 25. Presentasi kemampuan siswa adalah
sebagai berikut: 6, 6% termasuk dalam kategori sangat baik, 53, 3% baik dan 40%
sedang. Ketiga, Kesalahan yang dilakukan oleh para siswa adalah penggunaan kata
sambung as soon as, before, while dan unless dalam membentuk klausa keterangan.







CHAPTER I
INTRODUCTION
1.1 Background

In studying language particularly English, the learners somelimes encounter
problems in some aspects of language. One of the aspects, which the writer would
like to discuss in this study, is grammatical structure of English.

Sometimes, when the leamers study graminar, they Inﬂen face some
difficulties, not only in speaking ability but also in writing. One of the English
structures that the writer intends o write is “Adverbial Clauses Used by the First
Year Students at SMA Megeri | Benteng Selayar™.

Adverbial clauses usually consist of a subject and a wverb, which is
introduced by subordinate conjunctions. It also occurs in initial and middle position.
Conjunction is a word that is used to link words, phrases, clauses and sentences
together.

Although English had been studied, they still encounter many things
conceming the using of English grammatical aspect such as English adverbial clause.
For instance, many students are still confused in constructing adverbial clause and the
usage of appropriate conjunction in the sentence because both English and Indonesian
language have different features, such as syntax, semantic, ete. Therefore, the
students need to pay full attention to the rules of English syntactic structure in

constructing adverbial clause.




As said sbove that Indonesian students still have problems in mastering
English language. One of the difficulties faced by the students is how to construct
adverbial clause comrectly. It is because the adverbial clause must be combined with a
main clause by using the appropriate conjunction. Based on the problem above the
writer wants to know the students’ ability in using adverbial clause at SMA N |
Benteng Selayar,
1.2 ldentification of Problem
Based on the title"The Use of Adverbial Clause by the First Year Students
at SMA N [ Benteng Selayar™ (a case study) the writer pays full attention to the
following problems:
1.2.1 The students do not know how to use a marker of adverbial clause.
1.2.2 They often make errors in using appropriate conjunction 10 construct
adverbial clause.
1.3 Scope of Problem
There are nine types of adverbial clause. They are adverbial clause of time,
place, cause, condition, contrast, purpose, result, comparison and manner. However,
the wrilér wants to discuss adverbial clause of time, cause, contrast and condition.
The use of subordinate conjunctions, which are used in constructing the adverbial
clause above, are limited as follows: since, when, before, as soon as, because, as,

while, although, if and unless.




1.4 Statement of Problem
1.4.1 What is the students’ ability in constructing adverbial clause’?
1.4.2 What are the errors made by the students in constructing adverbial clause?
1.4.3 What are the students' mean score in constructing adverbial clause?
1.5 Objectives and Significance of Writing
1.5.1 Objectives of writing
Based on the statements of problems above, the writer tries to formulate the
objectives as follows:
1.5.1.1 To explain the ability of the students at SMA N [ Benteng Selayar in
constructing adverbial clause.
1.5.1.2 To describe the errors made by the students in constructing adverbial clause.
1.5.1.3 To find out the scores, which are got by the students in constructing adverbial
clause.
1.5.2 Significance of Writing
The significance of this writing for the students is to enrich their knowledge
about English adverbial clause and the writer hopes it could become an input for the
teacher if planning to learn adverbial process that is more effective and efﬂ-:m In
addition, it can also be a contribution for the next person who wants o make a

research in this section too,




L.6 Sequence of Chapters

This thesis consists of five chapters. The first chapter is the Introduction,
which is, consists of five points. They are background, identification of problem,
scope of problem, objectives and significance of writing and sequence of chapters.
The second chapter is the Review of Literature which is, consists of two points, They
are previous studies and theoretical background. The third chapter is the
Methndology which is, consists of !'n-l:thad for collecting theory and data, method for
analyzing data, and population and sample. The fourth chapter is the Presentation and

Analysis of Data. The last chapter is the Conclusions and Suggestions,
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CHAFTERII

REVIEW OF LITERATURE

2.1 Previous Studies
l. The Use of Adverbial Clause by The Situdents of SMK Cenderawasih
disamakan  Ujung Pandang (a case study) by Ellen F, Tungeas in 1997, She
focuses her research o
a. Construction of adverbial clause of time, purpose and cause.
b. The conjunction that are used are affer, before, as, while, when, once,
whenever, since, as soon as, as long as, because, in order thal and so thai.
2. Klausa Adverbial Bahasa Bugis dan Bohasa Inggris (suatu studi kontrastif) by
Nur Ani in 1998. She focuses her study on:
a. Adverbial clause in Buginesse language and in English
b. The constituent elements of the adverbial clause in Buginesse language and
in English.
¢. Types of adverbial clause in Buginesse language and in English
d. Analysis of the differences between ﬂdv:rbiﬂl-nlﬂuﬂﬂ in Buginesse language
and in English
The writer intends to discuss adverbial clause, but she will focus on
adverbial clause of time, cause, condiiion, and cowirast. In addition, the
subordinate conjunctions that will be used are since, when, before, as soon as,

hecause, as, while, although, i and unless.




2.2 Theoretical Background
2.2.1 Definition of Clause
According to Blake (1988: 88)"Clause consists of one or more groups
of words, at least one of which normally functions as subject and the other as
predicator”.

Based on the definition above the writer can conclude that a clause is a
grammal_ica] unit, which consists of a group of words or phrase that has a
subject, a verb and complement.

Clause can be divided in two groups. They are independent (main) clause
and dependent (subordinate) clause.

a. [ndependent Clause
According to Oshima and Houpe (in Tunpgeas, 1997: 6)"An
independent clause contains a subject and a verb and expresses a complete
thought. It can stand alone as a mnﬁnm by itself™, They added that the more
important idea is placed in the independent clause, the less important idea is
placed in the dependent clause.
Examples:
1. Gloria listens to the radio. (Nadler and Marelli, 1971: 136)
2. [ have studied English. (Madler and Marelli, 1971: 136)
The clauses above contain a subject and a verb and express a complete
thought. Therefore, they can stand as a sentence but when we want to make them

longer, they will become a part of the sentence and they are called main clause.




Examples:
l. Gloria listens to the radio, when she cleans the house.
2. 1have studied English since § arrived in the United States.

From the definition and the examples above the wriler can conclude
that independent clause is a group of words contain subject, predicate, and it
can stand alone as a simple sentence.

_h. Dependent Clanse

Oshima and Houge (in Tungeas, 1997: §) state that:™ A dependent
clause begins with a subordinator conjunction such as when, while, Il that, or
who which followed by a subject, verb and complement. It does not express a
complete thought and can not stand by itsell as a sentence™.

According to Frank (1972: 1):"A dependent clause contains a full
subject and predicate beginning with a word that attaches the clause to an
independent clause”.

She differentiates dependent clause into three types. They are:

1. Adverbial Clause: He came githough he was wwilling. (Frank, 1972: 2)

27 Adjective Clause: The iamp, which is standing on the fable, is expensive,
(Frank, 1972: 2)

3. Moun Clause: That he should enjoy sports is understandable. (Frank, 1972:
2)

In the examples above, the italic words are meant dependent clause

and the subordinate conjunction is the underlined words.




Baszed on the definitions and examples above the writer may conclude
that the dependent clause is a group of words contains subject and predicate
but it cannot stand alone as a sentence. [t is a part of a sentence, which is
always introduced by a subordinate conjunction.

222 Definition of Conjunction

When we talk about clauses, especially main clause and dependent clause, it
cannot be separated by conjunction. A conjunction is & word thal are used to link
words, phrases, clavses and sentences,

The conclusion above is made from the definition of conjunction as follows:
According to Blake (1988: 28):"Conjunction link clauses together, though
coordinating conjunction may also link words of the same class together; when
linking ¢lauses, they occur at the head of the clause™

Another definition is also given by Schoephoerster (1978: 46):"A ward is a
conjunction when it .is used to connect words, group of words that are closely
related.”

Conjunction consists of two quile separate categories, They are coordinate and
a, Coordinate Conjunction

Coordinate conjunctions link together two units, which are of equal rank,

whether they are clauses or not. (Blake, 1988:79)




According to Frank (1972: 206)"Coordinate conjunctions are used to
combine two equal clauses™, There are some words which are included in coordinate
conjunction such as and bu, ar, etc,

The writer can conclude that coordinate conjunction is a word, which is used
to joint two clauses with the same status. However, it can also be used to joint two
words with the same class together.

b. Subardinate Conjunction

According to Frank (1972: 215):"5ubordinate conjunction introduces a clause
that depends on a main clause or independent clause™.

Subordinate conjunction is & word used to joint two clauses with a different
stalus or joint separate clauses together. There are many kinds of subordinate
conjunctions. They are: when, while, because, if though, so that, since, gfter,
because, etc. However, the writer only discusses ten subordinate conjunctions
:nuceming: their usage in each adverbial clause. They are: since, when, before, as
soon as, because, as, in spite of, although, If and unless.

2.2.3 Definition of Adverbial Clause

idveﬁ:nial clause is a dependent clause, which modifies main verb, adjective
ar another adverb in the main clause. Adverbial clause consists of a subject and a
predicate, which is introduced by a subordinate conjunction.

The definition above is made from the definition of adverbial clause below:

According to Wishon and Burks (in Tungeas, 1997: 20):"An adverbial clause is a




dependent clause used as an adverb; therefore, it can modify a verb, an sdjective, a
verbal, another adwverb, or a sentence™.

Frank (1972: 23) states that: “An adverbial clause consists of a subject and
predicate introduced by a subordinate conjunction like when, although, because and,
i

According to Frank (1972: 234-235)™ Like the adverb, the adverbial clause
has three possible positions™. They are as follows:

1. Initial Position

An introductory adverbial clause is usually set off by commas, especially if
the clause is long. This position gives more emphasis to the adverbial clause,
Example: - As [ think back on it, we made a mistake in telling him about our plans.

{ Frank, 1972: 267)

2. Middle Position
| This position often occurs after the subject of the main clause. Here the
adverbial clause must be set off by commas. An adverbial clause in middle position
helps to vary the rhythm of the sentence.
Ex.amphz': - He was, as we remember him, a very honest man. (Frank, 1572: 267)
3. Final Position

This is the most usual place for the adverbial clause. Clause in final position is

generally not set off by commas.

Example: - It is ten miles from here, as thie crow flies. (Frank, 1972: 267)




2231 Types of Adverbial Clause
According to Widars-l_:r and Mariani {1994: 138), there are nine types of
adverbial clause in English language. They are adverbial clause of time, place, cause,
condition, manner, purpose, comparison and contrast. However, the writer only
discusses the adverbial clause of fime, cause, condition and contrast,
1. Adverbial Clause of Time
According to Blake (1988: 137)"Adverbial clause of time may refer to
any aspects of time in relation to that indicated by the main clause: it may be
before, at the same time as, or after, as well as indicating either habitual action or
contingency™.
In conclusion, an adverbial clause of time is a clause that refers to time when an
action takes place. The subordinate conjunctions that are used are: since, when,
before and as soon as.
a. Since™ Since is used to indicate a certain lime in the past when an activity
starts and the activity is continued uniil now”. (Nathalia and Effendi,
1983: 41)
Examples:

1. 1 have studied English since [ arrived in the United States. (Madler

and Marelli, 1971: 136)

7. | have not seen him since he retrrned fo the coundry. (Frank, 1972:

213




b When: “When is used to talk about an event that takes place at the same lime as
some longer action or event (describe in the main clause).” (Hewings,
2001: 190)
Examples:
l. They were playing in the garden when they heard a scream.
(Hewings, 2001: 190)
2. | can see you when [ finish my work (Frank, 1972: 21)
c. Before: “We use before if the action or event in the main clause has little or no
duration and does not take place until the time represented in the adverbial
clause.” (Hewings, 2001: 187)
Examples:
1. She walked out before I had a chance io explain. (Hewings, 2001:
187)
2. He wrote fifteen books ig@ he was made a professor. (Blake,
1988: 138)
d. As soon as: usually used to show the sequence of activities which happen one
after another. The time between one activity and the other is short. (Nathalia and
Effendi, 1983: 41)
Examples:
1. I will go to the Post Office as soon as [ wrap this package. (Frank,

1972; 236)




2. As soon as ke stepped into the house, his children rushed over to
greet him. (Frank, 1972: 237)
2. Adverbial Clause of Cause
According to Hewings (2001: 192)"An adverbial clause of cause is a
clause that gives a reason for a particular situation. The subordinate conjunctions
that are used are: because and as,
4. Because: Because is used when we give the reason for something. If the reason
is the most important idea, we put it at the end of the sentence.
(Hewings, 2001: 192) |
Examples:
1._Because I was ill for six months, 1 lost my job. (Hewings, 2001:
192)
2. We must be near the beach, becaiise [ can hear waves. {(Hewings,
2001: 192)
b. As: We can use as to give a reason for a panticular situation. (Hewings, 2001:
192)
Examples:
1. As if was gelting late, | decided | should go home. (Hewings, 2001

192)

2. He could not come, as he was ill. (Frank, 1972:21)




1. Adverbial Claose of Concessive (Contrast)

According to Frank (1972: 241)" An adverbial clause of concessive offers
partial contrasi-it states a reservation that does not invalidate the truth of the
main clause™ The subordinate conjunctions that are used are although and
while.

a. Although: “We use although when we want to say that there is an unexpected
contrast between what happened in the main clause and what
happened in the adverbial clause.” (Iewings, 2001: 196)
Examples:
L. Aithough [ felt very tired, | try to finish the work. (Frank, 1972: 22)
2. Although in a hurry, he stopped to help the boy. (Frank, 1972: 22)
b. While: It is also used to show the differences or contrast between the main
clause and the adverbial clause.
Examples:
1. He would like to have a dog, while his wife would prefer a cat.
(Frank, 1972: 217)
2. While he admiited stealing the money, he denied doing any hamm to
the owner. (Frank, 1972: 247)
4. Adverbial Clause of Condition
According to Blake (1998: 140)"An adverbial clause of condition is a
clause which expresses a condition which has to be fulfilled in order to allow

the staternent in the main clause to become operative,™

i4




Conditional adverb clauses are frequentiy introduced by if though they
may be introduced by other conjunction such as walfess. The statement can be
expressed more negatively with wnless to introduce the conditional clause, and
the occurrence of not or no in the main clause,

a. If: “We can use if to say that two possibilities have been talked about. Or say

that people are not sure about something.” (Hewings, 2001: 202)
Examples:

1. They could not decide jf it was re-sitting the exam. (Hewings, 2001:
202)
2. If it rains, we will not kave the picnic. (Frank, 1972: 21)
b. Unless: “used with the meaning ‘if...not"." (Hewings, 2001: 202)
Examples:
|. You cannot travel on this train waless you have a reservation.
(Hewings, 2001: 202)

2. 1 will tell John the news wniess | do not see him. (Nadler and

Marelli, 1971: 141)




CHAFTER 11l
METHODOLOGY
In this writing, the writer does research and uses some methods for getting
data that will be analyzed. They are:
3.1 Library Research
This research is carried out by reading English text books related 1o
synactic structure that has relation with adverbial clause o get the theory about
English adverbial clause.
3.2 Field Research
Beside library research, field research is also needed in a case study. Field
research is used for collecting data that will be analyzed later on.
3.2.1 Method for Caollecting Data
In collecting the data, the writer uses instruments, such as, test. This test is
given to the students. The tests that will be used to collect the data are multiple-
choice and assay test,
a. Multiple Choice Test
The multiple-choice test is a kind of test that requests the students to
choose one of the answers. This test consists of 20 numbers. The score of each

number is 2, 5. Each items consists of five options (a, b, ¢, d and e) of

conjunctions to form adverbial clause.




b. E!ﬁﬂ}’ Test .,.l

o

This test consists of 10 numbers. The score of each number is 5. The
students have to combine clauses by using appropriate conjunction to
construct an adverbial clause. The conjunctions are provided in the baox.

3.2.2 Method for Analyzing Data

In analyzing data the writer collects it from the students’ work, she

uses descriptive qualitative and quantitative method because the writer wals
* 1o know the quality (ability) of the students in constructing adverbial clause

and the writer must count the students” achicvement by using a formula, The

steps are:

|. The data are classified into two groups. The first is test | (multiple choice)

and the second is test [ (essay test).

2. The writer continues to examine the students’ answer then the writer

presents the number of studenis’ comrect and incorrect answers of each

number. After each number is presented the analysis that carries out the

reasons of correct and incorrect answer are given,

3. The students’ performance in both test are tabulated as a whole and put in

one table. The table describes the students’ achievement and these

achievements are classified into five levels by using erteria as follows:




Score: 80 - 100 = Excellent
70 -79 = Good
60 — 69 = Fair
20} = 59 = Bad
0 —49 = Very Bad
4. The writer shows the mean score of the stedents by using formula:

M=Fx
N

Where: M = I'-.-'I-:an Score
Fx = the Sum of Total
M = Numbers of students
Soepend (in Ania Ed, 1998 28)
3.3 Population and Samplc
3.3.1 Population
The population of this research is taken from the total number of
students first year. 5 at SMA MNeperi [ Benteng Selayar, which consists of 40
students. The wriler chooses this class because the she considers that all level of

students” ability are represented in this class and they have studied adverbial

clause before the Lest is given.




3.3.2 Sample

-! In this research, the writer chooses 30 students of the first year. 5 as

the sample because they can represent the population of this research. The

sample are taken based at random.




CHAPTERIV
PRESENTATION AND ANALYSIS OF DATA

In this chapter, the writer presents and analyses the data, which are divided
into two parts. Namely, the presentation and analysis of data | (multiple choice type)
which consists of 20 items and the presentation and analysis of data 11 {essay type)
which consisis of 10 items The test is given to 30 students of the first year. 5 at SMA
Megeri I Benteng Selayar as the sample to know their abilli'q.f in using English
adverbial clauses.

The writer analyzes the data according to the test. The analysis of each item
is given after the presentation of the students correct and incorrect answers. The table
of each test comes after one part is finished. Furthermore, each item of the test is
analyzed through the explanation of students” correct and incorrect answers.

4.1 Presentation and Analysis of Data I (Multiple Choice Type)
The test of data [ is multiple choice type question that consists of 20 items
and there are 5 options of each item.
Mote:
a. The correct answer of each item is given in bold printed option.
b. The number that is given behind each option indicates the numbers of students

who choose that options.

c. The analysis of data is given afler its presentation.

The presentation and analysis of data can be secn as follows:




1. My father was angry ... [ failed in my examination.
a. where
b. wherever
¢. although

. than

¢. because (30)

In question number 1, 30 students {100%) answer the question correctly by
nhn:n-sing. because (e). Option (e) is the best answer in case, hecause which ocours in
adverbial clause because | failed jn my examination is the reason of the main clause
my _father was angry. It shows a cause — reason relationship.

Mone of the student choose the other options. Option a, b, ¢ and d are the
wrong answers because where and wherever (2 and b) are used to construct adverbial
clause of place. These kinds of conjunctions usually show the place where an action
in the main clause takes place. Although (c) is used to show contrary relation hm-.-ﬁen
the main clause and the adverbial clause. Meanwhile, in this item, the sentence does
not indicate a contrary relation between the main clause and the adverbial clause,
while thin (d) is usually used for constructing adverbial clause of companison, It
shows comparison relationship in the sentence. So, those kinds of conjunctions are
not the appropriate one to combine the clauses above.

Based on the presentation above, all the students are able to use because in

forming adverbial clause in this item.
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2. She was so lazy ... her teacher often punished her.

!t a. as though
b. unless
C. 85 5000 as

d. although (30)

¢, as if

All of the students (100%) answer correctly by choosing although (d).
Option {d) is the best answer because although which oceurs in the adverbial clause
although her teacher often punished her indicates the contrast relationship between
the main clause and the adverbial clause.

There are no sdents choose option a, b, ¢ and e. These options are
incomect answers because as though and as if' (a and e) are used to form an adverbial
clause of manner. They usually indicate how an sction in the main clause s
happensd. These conjunction are used o answer question with 'hl:mr',lwhii: unless
(b} is a kind of conjunction that is used to show conditional relationship which means
“if ... not’. Meanwhile, as soon as (¢) is used to indicate time relationship which
means “as guickly as’. Moreover, in this sentence does not show time relation,
Therefore, these conjunctions are not appropriate to be applied in this item.

3. Hanny was in bed ... the telephone rang.
a. asif
b. whesever

. urtless

2
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d. as though

e. when (30)

For question number 3, 30 stedents (100%) answer the question correcily.
They choose (&) as the answer of this item.

Option () is the best answer. The adverbial clause, when indicates a time
relation in sentence. [t shows the time of two events happen in the same time. In this
case, Hanny was in bed happens at the same time of the action of the telephone rang.

MNone of the student choose the other options. Option a, b, ¢ and d are the
incormect answer because as §f and as though (a and d) are used to answer question
with *how® and they are used to construct adverbial clause of manner, while wherevar
(k) is a subordinate conjunction used to form an adverbial clause of place. [t shows
the place where an action in the main clause takes place. Meanwhile, unless (c) is
used to construct adverbial clause of condition which means *if ... not’. However, in
the sentence above does not express conditional rclul:inuship.‘ Therefore, they are not
the appropriate conjunction to be used to combine both clauses.

4. Clase all the windows ... you go out.
a. unless’

b. before (29)

c. after

d. since

e. where (1}

23




. In answering above item, 29 students {‘}ﬁ;ﬁﬁa} answer the question correctly
by choosing before (b) and 1 student (3,3%) answer incorrectly by choosing where
(e).

The students wha answer before is the right answer because it refers to time
relation. This implies that the time of one action happens after the other. In this
section, the time of cloging all the window happens first then the action of when you
go out fallows it.

Option (&) is incorrect answer because where functions is to state place.
Mennwhile, you go out is not an adverbial clause of place. There are no studenis
choose option &, ¢ and d, they are not the right answer because wnless (a) is used 1o
show conditional relation. However, this sentence does not contain conditional
relationship. While, affer and simce (¢ and d) are also wrong even though they show
time relation because if we use them to combine the clauses, the meaning of this
sentence will seem impossible. In this case, il we use affer to combine both clauses, it

is impossible to do the action in the main clause close all the window if the action in

—

the adverbial clause you go out has been done before the action in the main clause has
finished. Meanwhile, if we use since, it means the ar:.t.iun in the main clause is done at
the point of the action you go out and still continue until now. Therefore, these kinds
of conjunctions cannot be used to combine both clauwses in this item.

5. Pilot will go to America ... he gets his visa.

a. than (19}

b. in spite of
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c. a5 soon as (§)
d. while (3)
& whers

Eight students (26, 6%G) choose the appropriate answer by choosing as soon
as () and 22 (73, 3%) students answer incorrectly. Nineteen students choose than (a),
3 students choose while (d).

Sl'l_ldmls answer as soon as are considered the best answer because the
adverbial clause as spon as he pets his visa modifies the main clause and shows the
time relation. It states the action of the main clause will be done after the action in the
adverbial clause has been done and the length of the time between the two actions 15
short,

Than (a) is a conjunction to state a comparison, while he gets his visa is not
the comparison of the main clause. That is why the students who choose this option
are wrong. None of the student chooses ﬁpﬁnnb and e, Those options are also wrong
hecause in spite of (b) is used to show contrary relation between the main clause and
the adverbial clause. However, this sentence does not contain contrary relation, while
where (€) is used to indicate place relationship. It shows the place where an action
takes place. Meanwhile, he gets his visa in the adverbial clause is not an adverbial

clause of place. Therefore, these conjunctions cannot be used to combine the clauses

above.




c. as soon as (§)
d. while (3}

& wWhspe

Eight students (26, 6%4) choose the appropriate answer by choosing as soom
as (¢} and 22 (73, 3%) students answer incorrectly. Nineteen students choose than (a),
3 students choose while (d).

Stl:nimls answer as soon as are considered the best answer because the
adverbial clause as soon as he pets his visa modifies the main clause and shows the
time relation. It states the action of the main clause will be done after the action in the
adverbial clause has been done and the length of the time between the two actions is
short,

Than (a) is & conjunction to state a comparison, while he gets his visa is not
the comparison of the main clause. That is why the students who choose this option
are wrong, None of the smdemd:—ms":-plinn b and e, Those options are also wrong
because in spite of (b) is used to show contrary relation between the main clause and
the adverbial clause. However, this sentence does not contain contrary relation, while
where (€) is used to indicate place relationship. It shows the place where an action
takes place, Meanwhile, he gets his visa in the adverbial clause is not an adverbial

clause of place. Thercfore, these conjunctions cannot be used to combine the clauses

abowve,




6. My father never goes to Mall ... my mother can go with him.

a. unless
b. after (3)
c.as if (8)
d. before (7)
e. as though (12)
In this item, all the students (100%) answer incorrectly by choosing ajffer
(b), as if (c), before (d) and as though (). The best answer is in option (a).The

adverbial clause unless my mother can go with him modifies the main clanse and

shows a conditional relationship that means “if ... not".

The sudents choose options b, ¢, d and ¢ are wrong because gffer and
before are conjunctions that are used to state a time refation, while my mother can go
with him is not the time of the main clause. Furthermore, as if and a5 rhough are used

to state manner relationship. They are used (o answer question with *how”, Therefore,

those kinds of conjunctions cannot be used to combine the clauses above.
7. ... Jumria comes back tonight, we will go to Restaurant.

a. So

b. Asif

c. If(28)

d. As though

e, Wherever (2)
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In the item above, it is obtained 28 students (93,3%)answer correctly by
choosing if (c), while 2 students (6,6%) answer incorrectly by choosing wherever (c).
17 (<) here, is used to state a conditional relationship with the main clause.

The adverbial clause if Jumria comes back tonight is the condition that has to be

fulfilled so the action in the main clause can happen. For that reason, the students
have answered {c) are correct.

Wherever () is usually used to refer a place which the action takes place.
However, there is no place relationship between the main clause and the adverbial
clause in this item. No stedent choose option a, b and d. They are also the incorrect
answer because so (a) is used to show the result of the main clause. Meanwhile,
Jumriz comes back tonight is not the result of the main clause we will go to
Restaurant. A5 iff and as though (b and d) is used in constructing adverbial clause ol
manner and they usually used to answer question with *how'. Therefore, these kinds
of conjunctions m—e not the appropriate one to be wsed in combining both clauses
above.
£, Ros Diana was in the bathroom ... | came to her house,

a. when (39)
b. where

¢. In spite of

d If

I e e L




All the students (100%) answer correctly in sentence number § by choosing
when (a). Therefore, the writer concludes that this item is really understond by them,
None of the student choose other options,

When is the correct answer because it is used to indicate a time relationship
of two events, which happen at the same time. In this case, Ros Diana was in the
bathroom happens at the same time with | came to her house,

MNone of the student chooses option b, ¢, d and e, These options are the
incorrect answer because where (b) is used to show place relationship in adverbial
clause of places, while in spire of (c) is used to show contrary between the main
clause and the adverbial clause. However, the senience above does nol express
contrary relation. [f (d) is used to indicate conditional relationship of the main clause.
Meanwhile as if (e) is used to answer question with *how” in adverbial clause of
manner. Therefore, those kinds of conjunction are not the appropriate one to be
applied in this item.

9. Sitti will phone me ... she finishes her homework.
a. although

b. where

¢. as soon as (27)

d. than (3)

e. as though
In this item, 27 students ($0%]) answer correctly by choosing as soon as (c),

and only 3 (10%) studcnls answer tharn for this item.
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The best answer is as soon as (c) because it is used to state a time relation

e A S O A ey T

between the main clause and the adverbial clause and the length of the time between
two actions is short, In this case, Sitti will phone me right after ghe finishes her
homework.
Than (d) is used to state a comparison, While she finishes her homework is
not the comparison of the main clause Sitti will phope me, Mo student choose option
a, b and c. These option are also wrong because although () is used to show contrary
between the main clause and the adverbial clause. However, in this item, the main
clause Sitti will phone me does not show contrary relation with the adverbial clause
she fimishes her homework. HWhere (b) is not also the correct answer because it is used
to show the place where an action takes place but in this case, she finishes her I
homework is not an adverbial clause of place, while as though (e) is used to answer
the question with ‘how’ in the main clause. Therefore, those conjunctions cannot be
' used to combine the clauses in this item.
10. Arianto will tell Asty the news ... he sees her.
a. than
b. as though
c. where
d. as if
e If (30)

[n answering above item, all of the students (100%) answer comectly by

choosing If ().
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If (e) is the best answer because it refers to conditional relationship. This
implies the action of the main clause can happen if the condition of he sees her has
been fulfilled,

None of the student chooses the other options, Option a, b, ¢ and d are the
incorrect answer because than (a) is used to make comparison between the main
clause and the adverbial clause. In this case, the main clause Arianto will tell Asty the
news is not the comparison of the adverbial clause he sees her. As though and as if (b
and d) are used in adverbial clause of manner to answer question with “how', while
although (c) is used to show contrary between both clauses but in this sentence does
not express contrary relation. So, those conjunctions are not the appropriate one to
combine the clauses above.

11, Yusuf has his breakfast ... he goes to his office.
a. unless

b. as though

€. A5 S00N a5

d. than

e. before (30)
In question number 11, 30 students (100%) answer the question correctly.

They choose before (e) as the answer. It means that all the students are able to use
before to form an adverbial clause. Before as a subordinate conjunction that is used to

express a time relationship. The adverbial clause before he goes to his office modifies
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the vert of Iias and indicates that the action in the main elause is aecurred first, and

then the action of the adverbial clause follows it,

None of the student choose option &, b, ¢ and d. They are the incorrect
answer because unless (a) is a conjunction that is used to indicate conditional relation
which means *if ... not’. But this sentence does not contain conditional relation. As
though (b) is used in adverbial clause of manner to answer question with *how’. As
soon as (c) is used to indicate time relation which means’ as quickly as’. So, if we
used it to combine the clauses above, the meaning of this sentence will seem
impossible, while than (d) 15 used to construct adverbial clawse of comparison but in
this itemn does not show something to be compared. Therefore, they are not the right
conjunction to be used to combine the clauses in this item.

12. Sabri will not win the match ... he plays well.
a. until

h. unless (30)

¢. when

d. because

-

e lf
T"l.'jﬁ? students (lm%} choose urless [b:l as the answer. Moreover, th’E}" anc

right choice because wniess a5 & subordinate conjunction is used to indicate the

conditional relationship. The statement can be expressed more negatively with unless

o introduce the conditional clause, and the acgurrence of not in the main clause. In
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this case, there is the occurrence of not in the main clause Sabri will not win the

match. Therefore, the appropriate conjunction for this item is unless.

antudent:hnrucsesﬂmndmnpﬁuns_{}ptmna,n,dandcmthi:‘-‘-'mns

answer because until (a) is used to show time relation. It states that the action of the
main clause is "going on’ up to the fime "when action comes. When (c) is also
indicates time relationship, However, this sentence does not contain it, Because {d) is
used to show cause or reason relationship. Meanwhile in this sentence does mot
express cause or reason relation. [f (¢) as a conjunction that is used to show
conditional relationship, which has positive meaning. However, when we use if to
combine the clauses asbove, the meaning of this sentence will seem impossible.
Therefore, those kinds of conjunctions cannot be used to combine both clauses in this
item.

13. ... Amir felt very tired, he tried to finish the work

a. until

b. where

c. than (2)

d. although (28)

. because
Two students (6,6%) answer the question incorrectly by choosing than. In

addition, 28 students (93,3%) choose the right answer {although).
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Although (d) is the best answer because it shows a contrast between the
main clause and the adverbial clause. In this case, Amir felt tired contrasts with he
ish the wark.,

Than (<) as a conjunction that is used to show a comparison berween the
main clause and the adverbial clause. But in this item, there is not anything to be
compared. No student choose option a, b and e. These options and these part are
wrong because wntil (a) is used to indicate time relation, However, this sentence does
not express time relation, Where (b) is used to indicate place relation. It shows the
place where an action takes place. Meanwhile the sentence in this item does not
contain time relation, while because (¢) is used to show cause or reason relationship
that happens in the sentence. Therefore, these conjunctions are not the appropriate
oné to be applied in this sentence.

14. My father has not eaten meat again ... he got high blood pressure.
a. since (20)

b. although

. until

d. than (10)

e If
The numbers of students who answer cormrectly are 20 (66,6%). They choose

since (a). While 10 students (33,3%) answer incorrectly. They choose than (d) as the

answer of this item.
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The word since (a) here, is used in relation to the time and means *from that

point of speaking’. Therefore, the meaning of this sentence by using sirce is the act of
my father has not eaten meat again has been done from the time he got high biood
pressure. In other word since he got high blood pressure modifies the time of the verb
has not eaten. For that reason, the students answer (a) are correct.

Than (d} is usually used to refer to a comparison between both clauses,
while the sentence above does not contain something to be compared. None of the
student chooses option b, ¢ and e. These options are wrong because although (b) is
used to construct an adverbial clause of contrast, It indicates contrastive relationship
between the main clause and the adverbial clause. But the sentence in this item does
not contain contrastive relationship, while wntil () as a conjunction that shows time
relation but if we use it to combine the clauses in this item, the meaning of this
sentence will seem impossible because conjunction until states that the action in the
main clause is ‘going on’ up to the time of the adverbial clause, IF as a conjunction
that indicates conditional relationship. It states that the action in the adverbial clause
must be fulfilled so the action in the main clause can happen. Therefore, these kinds
of conjuictions cannot be used to combine both clauses in the item above.

15. They left the party at 10. paw ... they had to get up early the next day.
a, wherever (2}
b. ‘-v.'-‘hﬂl'ﬁ {3)

c. as (18)
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d. when (T)
e. unless

In this number, 18 students (60%) answer the question comectly by

choosing as. While there are 12 students (40%) answering incorrectly by choosing
wherever (2), where (3) and when (7).

The students who answer (¢} are right because as clause refers to the reason
relationship. It means, as they had to get up early the pext day is the reason why they
left the party at 10. p.m, '

However, where and wherever (a and b) are conjunctions that are used to
refer to place which an action takes place. When (d) is used to indicate time relation
while this sentence does not express time relation, None of the student chooses unless
{e). It is also the incorrect answer because unless is used to show conditional
relationship which means “if ... not". Meanwhile the sentence above does not show
conditional relation. So, these kinds of conjunctions cannot be used to combine the
clauses above.

16. Mr. Andy has been working hard ... he moved to this office.
a. since {30)

b. wherever

¢. than

d. If

e. as though
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In the item above, all the students (100%) answer correctly by choosing

since (a). Since is the best answer becayse it shows the time relation. In this sentence

the action Mr. Andy has been working hard, had been done from the time of he

moving to this office. For that reason, the students have given the correct answer by
choosing since.

No student choose option b, ¢, d and e. These options are wrong because
wheraver (b) 15 used in constructing adverbial clause of place, It shows the place
where an action takes place. Than (c) is used to state comparative relationship but this
item does not express something to be compared, while if (d) is used to show
conditional relationship. It states that the action in the adverbial clause must be
fulfilled so the action in the main clause can happen. So it cannot be used because the
sentence above does not express conditional relation. Meanwhile, as though (€} is
used to construct adverbial clause of manner. It shows how an action in the main
clause happens. It answers the question with “how’, Therefore, those conjunctions are
not the appropriate one to be applied in this item.

17. Anny is sleeping ... Mur is cooking in the kitchen.
a. unless’

b. while (33)

¢.asif

d. wherever

&, than
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Thirty students (100%) choose the best answer by choosing (b) because

while is used to show a contrasy between what happens both in the main clause and in

the adverbial clause. In this case, while is used o show contrast between Nur is

eooking in the kitchen in the adverbial classe and Anny is sleeping in the main
clause.
No student choose option a, ¢, d and e, These option are wrong because

unless (a) 15 used to show conditional relationship which means “if .., not*. However,

this sentence does not contain conditional relation. As if (c) shows, how the action
happens in the main clause and it answers question with *how”. It is usually used w0
form an adverbial clavse of manmer, while wherever (d) is a conjunction to show
place relation. [t states the place where an action in the main clause takes place but
this sentence does not contain place relation. Meanwhile, than (g) is used to show
comparative relationship while in this item, the adverbial clause Mur is cooking in the
kitchen is not the comparison of the main clause Anoy is sleeping. So, those

conjunctions cannot be used to combine both clauses above.

|8, Some students spend their spare time by reading ... the others watching ;
telévision 'é

a. after (13)

b. unless !.

c. while (25) |

d. If 1

e. before (2)

1
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Thirty students (100%) choose the best answer by choosing (b) because
while is used to show a conirast between what happens both in the main clause and in
the adverbial clause. Tn this case, while is used to show contrast between Nur is
cooking in the kitchen in the adverbial clause and Anny is sleeping in the main
clause.

Mo student choose option a, ¢, d and e, These option are wrong because
urless (a) is used to show conditional relationship which means “if ... not”. erwg:,
this sentence does not contain conditional relation. As if (c) shows, how the action
happens in the main clause and it answers question with ‘how”, It is usually used to
form an adverbial clause of manner, while wherever (d) is 2 conjunction to show
place relation. It states the place where an action in the main clause takes place but

this sentence does not conizin place relation. Meanwhile, than (€) is used to show

comparative relationship while in this item, the adverbial clause Nur is eooking in the

kitchen is not the comparison of the main clause Anny is sleeping. So, those

conjunctions cannot be used to combine both clauses above.

18. Some students spend their spare time by reading ... the others watching
television.

a. after (13)

b. unless

c. while (25)

d. If

e. before (2)




Twenty five students (83,3%) answer the question correctly by choosing
while (c) and 5 students (16,6%) answer incorrectly, Three of them choose afier (a)
and two of them choose before (e).

The students choose while(c) is the right answering because while clause
indicates a contrastive relation between the verb in the main clause and the verb in the
adverbial clause. In this case, between some students spent their spare fime by
reading and the others watching television.

However, afier and before (a and e) as conjunction that is used to show time

relationship in the main clause. Meanwhile, this sentence does not discuss a time
relationship. Therefore, these options are wrong.

Mone of the student choose option b and d. These options are wrong because
unless and if (b and d) as the conjunctions that are used o show conditional
relationship but unless has negative meaning. Meanwhile in this item does not
contain conditional relation. Therefore, those conjunctions are not the appropriate one
to be used to combine the clauses above.

19, ... It is raining heavily; we had better cancel our picnie.
a. After

b. Unul

¢. Even though

d. As (26)

¢. Than (4)




In answering above item, 26 students (86,6%) answer correctly by choosing
as (d) and 4 students (13,3%) answer incorrectly by choosing than (&)

The students who choose (d) is right because it expresses the reason of the

main clause. Here, It js raining heavily is the reason of we had better cancel our
Eicrﬁt.

Than () is used to show a comparison of adjectives and adverbs in a
sentence. However, this sentence does not contain a comparison relationship.
Therefore, the students who answer than is WIOng,

Mo student choose option a, b and ¢. They are also the wrong answer
because afier and wnril (a and b) are the conjunctions that show time relationship
while this sentence does not express it. Even though (c) is a kind of conjunction that
is used to indicate contrastive relationship. Meanwhile, the adverbial clause of this
sentence is not anything that can be contrasted with the main clause. Therefore, those
conjunctions are also the wrong answer for this item.

20. Adi will not atiend to your party tomorrow ... he has a bad cold.
4. because (29)

b. even though

c. where

d. until

e, than (1)
Twenty-nine students (96,6%) choose because and only 1 student (3,3%)

chooses than (c).
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Because (a) is the best answer for this item. Because is used when someone
wants to explain the reason or cause and to reinforce the statement of the main clause.
In that sentence the cause of Adi will not attend to your party tomerrow is the action
of he has a bad cold. So, because is the best answer of the cause or reasonal
relationship within this sentence.

Than (e) is used to construct a comparison, Therefore, it is not an
appropriate introduction for that clause. None of the student chooses option b, ¢ and
d. These are also the incorrect answer because even though (b) is used to indicate
contrastive relationship between the main clause and the adverbial clause while this
sentence does not contain contrastive relationship. Where (c) as a conjunction that is
used to explain adverbial clause of place. It states the place where an action in the
main clause takes place but this sentence does not express place relationship.
Meanwhile, unsil (d) is used to show time relationship but this sentence does not
express time relation. Therefore, these conjunctions are the incorrect answer fcrr. this
item.

4.1.1 The table of data | ,
“The following table shows the number of students who give the best and in

correct answers in test type I, which consists of 20 items.
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Table |

The Students’ performanee in Using Adverbial Clause

{(Multiple Choice Type)

Number of Students Who Have Given
Hem The Correct Answer The Incorrect Answer

Students Ve Students Yo
1 30 100
2 30 100
3 30 100
4 28 96,6 1 i3
5 8 26,6 22 733
& 30 100
7 28 93,3 2 6,1
8 M 100
9 27 %) 3 10
10 30 100
11 i 100
12 ETH) 100
E 28 03,3 2 6,6
T 20 66,6 10 R
s T 60 12 40
15 30 100
7 10 100
T 25 §3.3 166
T 2% B, 13,3
70 29 96,6 1 32
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4.2 Presentation and Analysis of data [ (Essay Type)

The data IF (essay type). This test has 10 items. In this test, the students are
asked to combine two clavses into one by using appropriate conjunction that are
provided in the box. Within the combination of those clauses, we can see the use of
adverbial elauses done by the students,

MNote:

a. The best answer(s) of each item is'are given in bold-printed sentences.

b. The incorrect answer(s) of each item is/are marked by (*)

c. The number, which is given behind each sentence, indicates the number of
students who choose the option.

d. The analysis of each item is given afier its presentation.

The presentation and analysis of data I can be seen as follows:

1. He lived in the city. He has taken a bus to his office.

The best answers are:

a. Since he lived in the city, he has taken a bus to his office. (4)

b. He has taken a bus to his office since he lived in the city. (26)

“ All the students (100%) have chosen the right conjunction to combine the
clauses. They give the variation answers for this item. Four students put the adverbial
clause before the main clause and 26 students put the adverbial clause afier the main

clause. Both answers are right because an adverbial clause can occur in initial, middle

and final position. Therefore, it is not wrong if the students put the adverbial clause in

initial or in final position.
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Since is a correct conjunction used to combine both clauses above. The clause
with introductory simce explains the time of the main clause; the time of he has taken
a bus to his office explained by since he lived in the gity. In this item, the writer
considers that the students know the right conjunction to construct the clauses

correctly,
2. You will be late. You go in a hurry.
The incorrect answers are:
a*. You will be late before you go in a hurry. (11)
b*. You will be late where you go in a hurry. (10)
e*. You will be late than you go in a hurry. (2)
d*. You will be late wherever you go in a hurry. (2)
e*. You will be late as though you go in a hurry. (2)
The correct answer is:
a. You will be late unless you go in & hurry. {3}.
In this item, only 3 students (10%) choose the rght conjunction and 27
students (90%) who answer incomectly by choosing before, where, than, wherever

and as though.

[imless as a conjunction that is used to indicale a conditional relationship.

Einfess means *if... not'. In this case, the main clause will not happen if the adverbial

clause is not done.
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However, where gnd wherever s conjunctions that are used to show the

place which an action takes place. Than is used to make a comparison between the

main clause and the adverbial clause, As though is used in adverbial clause of
manner. Therefore, those kinds of conjunctions cannot be used to combine the clauses
in this item. Therefore, those options are wrong,

3. They lost the game. They practiced playing football twice a week.

The mﬂnr!'m:.t answer is:

a.*. They practiced playing football twice a week than they lost the game. (1)

The best answers are:

a. They lost the game although they practiced playing football twice a week. (25)
b. Although they practiced playing football twice a week, they lost the game. (4)

Twenty nine students (96,6%) answer the question comrectly by choosing
although as the appropriate conjunction to combine both clauses. Only | student (3,
3%) answer incorrectly by choosing than.

Although as a conjunction, which is used to say that there is an expected
contrast between what happens in the main clause and what happened in the adverbial
clause, Tn this case, the adverbial ::lame glthough they practiced plaving football
twice a week is something that happens unexpectedly. That is the reason why the
students choose this conjunction as the correct choice.

Than ae a conjunction that is used when we want (o make a comparison
the main clause and the adverbial clausc. Meanwhile, this item does not

between

express something that will be compared. That is why this option is incormect.




H
OWeVEr, where and wherever a8 conjunctions that are used o show the

place which an action takes place. Than is used to make a comparison between the

main clause and the adverbial clause, As though is used in adverbial clause of

r. Therefore, those kinds of conjunctions cannot be uscd to combine the clauses

in this item. Therefore, those options are wrong,
3. They lost the game, They practiced playing football twice a week.
The j.nmr_rﬂ:t answer is:
a.*. They practiced playing football twice a week than they lost the game. (1)
The best answers are:
a. They lost the game although they practiced playing football twice a week. (25)
b. Although they practiced playing football twice a week, they lost the game. (4)
Twenty nine students (96,6%) answer the question comrectly by choosing
althougth as the appropriate conjunction to combine both clauses. Only 1 student (3,
3%} answer incorrectly by choosing than
Although as a conjunction, which is used to say that there is an expected
contrast between what happens in the main clause and what happened in the adverbial
clause, In this case, the adverbial ciame glthough they practiced plaving football
twice a week is something that happens unexpectedly, That is the reason why the
students choose this conjunction as the correct choice.
Than as a conjunction that is used when we want to make & comparison
hetween the main clause and the adverbial clause. Meanwhile, this item does not

exXpress mmc!hiﬂE that will be mmpﬂfﬁd. That is why this opdion is incomect.
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4. It is raining. There are usually thunders.

The incorrect answers are:

a®. Than it is raining, there are ususlly thunders, (14)

b*. As though it is raining, there are usually thunders, (7
c*. As if it is raining, there are usually thunders. {3)

d*. Unless it is raining, there are usually thunders. (1)

The best answer is-

a. Before raining, there are wsually thunders. (3)

Three students (10%) answer correctly by choosing before as the
appropriaic conjunction to combine the clauses. The rest of 27 students (90%%) answer
incorrectly by choosing than, as though, as if and unless.

Before is the best answer here, because it indicates time relationship. The
clause with introductory before explains the time of the main clause. The time of
there are usually thunders e.xplainﬁ by before raining. Before indicates that time one
action begins when the others over. In this case, there are usually thunders is the first
action and the second is it is raining.

"As if and as though art not the appropriate conjunctions because these kinds
of conjunctions are used if we want o make adverbial clause of manners, Tham is not
also a right conjunction because it is used lo show comparison between the two

clauses. While unfess is used in a conditional clause. That is why this conjunction

cannot be used in this sentence.
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5. Some students play in the yard. The gifers eat in the canieen,
The incomrect answer g

a*. Some students play in the yard unless the others eat in the canteen. (1)
The best answer is:
a. Some students play in the yard while the others eat in the canteen. {29) |
In this question, 29 students (96.,6%) choosing while as a conjunction o :I
combine the clauses, Only | student (3,3%) choose a wrong answer by choosing
unless.
While as the best answer because it is used to show contrast between the
main clause and the adverbial clause. In this case, the main clanse some students play

in the yard contrasts with the adverbial clause while the others eat in canteen. Linless

as a conjunction which is used to form an adverbial clause of condition. Therefore, it
iz not the appropriate conjunction to combine the above clauses.
6. The pa:-:smgm.gcrt off. The bus arrived.

Incorrect answers ang:

a*, The passengers got ofT as if the bus arrived. (7) .
b*. The passengers got ofl before the bus amived. (3) ]
¢*. The passengers got off than the bus armived. (4)

d*. The passengers got off unless the bus arrived. (15)

e*. Because the passengers got off, the bus arrived. (1)

The correct answer is: |

a. The passengers got off as soom a5 the bus arrived. |

4
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In the item above, all the students { 100%) answer incomectly by choosing as
il before, unless, than and because.

The best conjunction to be used is as soon 5. which meaiis™ af fid thocust’

or ‘as quickly as”. The adverbial clapse a5 5001 as the bus arriveq explains the time of
the passengers got off,

Conjunction as if used to show how an action is done in the main clause.
Before as a kind of conjunction that is used to indicate time relation, It indicates that
the adverbial clause is the first action, Meanwhile, if we look at the meaning of this
sentence when we put before as the conjunction, it seems impossible, Than is
conjunction to show comparison. Because is the conjunction used for showing a
cause- reason relationship. Moreover, if we look at sentence (e*) it is impossible to
put because at the beginning of this sentence. While wnless is used to show a
conditional relationship. So those conjunctions are wrong.
1. The -rnh-l'.u:rs left. The police came.
The incomect answer is:
a*. The robbers left wherever the police came. (1)
The corréct answer is:
a. The robbers left when the police came. (29)

Only 1 student chooses an incorrect answer. He chooses wherever as the
conjunction to combine the clauses. Twenty nine students (96,6%) choose the comect

answer by choosing whemn &5 the conjunction to combine both clauses.
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When is the i .
the right answer becguse it shows time relationship and it states the

lime i
ime of main clause of the tobbers leR. Meanwhile, wherever is not an appropriate

comyunction because it s used to indicate the place where an action takes place.
B. She was scared. The litile giel cried,

The incorrect ANSWErS are:

a*. The little girl cried where she was scared. (1)

b*. The little girl eried as though she was scared. (1)

c*. The Little girl cried unless she was seared. (n

d*. The litile girl cried wherever she was scared. {1

The comect answer is:

a. The little girl cried becanse she was scared. (26)

For question number B, the writer found 26 students (B6,6%) answer
correctly by choosing because, while there are 4 students (13,3%) answer incorrectly
by choosing where, as though, unless and wherever,

The students choose because as the best conjunction which can combine one
clanse to another because this conjunction is us::d to show the cause — reason
relationship. In this case, the adverbial clause because she was scared is the reason of
main clause of the little girl cried.

Where and wherever as conjunctions, which are used to show place

relationship. Therefore, they are not the right one to combine clauses. As though is

not the best answer because it iz used to show how an action in the main clause
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happens, Unlegs i :
ppe €55 15 wsed in adverbial clause of condition which means® if._. not'. This
answer 15 also wrong,

9. She works hard. She may be successful,

The incomect answers are:

a%. She works hard wherever she may be successfil. (3)
b*. Than she works hard, she may be successful. (4)

c*. Unless she works hard, she may be successful. (2)
d*. As though she warks hard, she may be successful. (2)
e*. Where she works hard, she may be successfil. {3}
The best answers are:

a. If she works hard, she may be successful. (12)

b. She may be successful if she works hard. (4)

In answering above item, 16 students (53,3%) give the best answer. They
choose if as the conjunction for combining both clauses, The rest of 14 students
choose the wrong conjunction. They give answers vary. Some of them choose
wherever and than while the other choose unless, as though and where to combine

the clauses.

[f is the best answer because if shows conditional relaionship which means

that the adverbial clause if she works hard must be fulfilled 50 the action in the main

clause she may e successful can happens. For that reason, the students who choose i

are right. Meanwhile, the other answers that givea by the students are wrong because

than is used for making comparison. Unless is used to make a conditionsl cl
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happens. Unless is used in adverbial clayse of condition which means” if . not”. This
answer is also wrong,

9. She works hard. She may be successful,

The incomect answers are:

a*. She works hard wherever she may be successful, (3)
b*. Than she works hard, she may be successful. {4)

¢*. Unless she works hard, she may be successful, (2)

d*. As though she works hard, she may be successful. (2)
e*. Where she works hard, she may be successful. (3)
The best answers are:

a. If she works hard, she may be successful. (12)

b. She may be successful if she works hard. (4)

In answering above item, 16 stedents (53,3%) give the best answer. They
choose if as the conjunction for combining both clauses. The rest of 14 stedents
choose the wrong conjunction. They give answers vary. Some of them choose
wherever and than while the other choose unless, as rhough and where to combine

the clauses.

If is the best answer because it shows conditional relationship which means

that the adverbial clause if she works hard must be fulfilled so the action in the main

clause she may be successful can happens. For that reason, the snudents who choose i
are right. Meanwhile, the other answers that given by the students are wrong because

than is used for making comparison. Unless is used to make a sonditional clause
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relationship which means' i not’. As though is not the appropriste conjunction

because it is used to make an adverbial clause of manner. Mean ol ks

wherever are used to show place refationship.
10. We had better cancel our picnic. It is raining,
The incorrect answers are:
a*. As if it is raining, we had better cancel our picnic, (3)
b*. As though it is raining, we had better cancel our picnie, (1)
¢*. Than it is raining, we had better cancel our picnic. (6)
d*. Unless it is raining, we had better cancel our picnic. (5)
e*. Where it is raining, we had better cancel our picnic. (2)
F*. Wherever it is raining, we had better cancel our picnic, (5)
The comect answer is:
a. As it is raining, we had better cancel our picnic. (8)
Eight students (26,6%) answer the question comectly by choosing as.
Twenty students (73.3%) answer incomectly by choosing as ifl as though, than,
waless, wherever and where.

“Where and wherever are not appropriate to combine the clanses above
because they are used to form adverbial clause of place. 45 if and as though are not
also the rights answer because they are used in adverbial clause of manner. Unless is
ing an adverbial clause of condition which means®

a conjunction that is used in form

i not". Than is used when we make a comparison between the main clause and the

adverbial clause. Therefore, those kinds of conjunctions are not the ap o
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combine the clauses. Meanwhile, as is the appropriate one because it shows cause —

reason relationship. The adverbial clause as it is raining is the reason of the main

clause we had better cancel our picnic. For that reason, the students who use as to

combine the clauses age right.

4.2.1 The table of data I

The following table shows the number of stedents who give the correct and

incorrect answers,

Tahle 11
The Students” Performance in Using Adverbial Clause
(Essay Type)
Number of Students Who Have Given
Tidi The Correct Answer The [ncorrect Answer
Students Yo Students e
1 30 100
- 3 10 77 90
3 29 96,6 1 3.3
4 3 10 27 L)
5 25 96,6 1 3.3
e 30 100
7 T 96,6 l 3.3
z 6 86,6 4 13,3
: T 33 14 46,6
o g 26.6 2 733
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4.3 Table 3 and jis 'dﬂll.‘ﬂpliun

Table 3 contains the result of table | and wble 2. Before describing it more detail, the
writer will present the criteria and the formula of determining the students’
achievement and their score in using adverbial clause.
The eriteria are as fol lows:
Score: 80 = 100 is classified as excellent
70 = 79 is classified as pood
60 — 69 is classified as fair
50— 59 is classified as poor
0 - 49 is classified as very poor
To determine the score of the students, the writer uses the formula as follows:
Total scores= scorel + score |l
Where:
a. Score [ is obtained from the number of comrect answer of test [ (20) times 2,5.
The total score is 30,
b. Score 1l is collected from the number of comect answer of test I (10) times 5.

The total score is 50.

Therefore, the total scores for both tests are 100, Meanwhile, the formula to

determine the students’ mean score 15 b= %‘5

Where: M = mean score
Fx = the sum ﬂft'l}t-ﬂj

'N' = numhﬁt’ﬂ nf Stlldﬁﬂ‘ﬁ
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Table [11
The Students’ Score in Answering Test Type | and Test Type I
- Test Type I Test Type Il Total
NCA | Boses | NEA T oo Score F F(X)
I 19 | 475 7 35 E.'-:mfs I 82,5
2 18 45 T i5 B0 | 80
3 18 45 6 30 75
4 18 45 3 30 75
5 18 45 ) 30 75
6 18 45 3 30 75 4 300
7 17 42.5 f 30 125
§ 17 | 425 | 6 30 72,3
9 17 ] %25 6 30 i
10 17 | 25 | 6 30 725
1 17 | 425 | 6 30 725
3 17 | 425 | © 30 45
3 17 s | 6 | % | 725
13 17 | 425 6 30 72,5 -
T 17 | 425 b 30 723
T 17 | 425 | 6 30 et
17 17 42,3 6 30 TS
€ | @ [& | & | % | BRI | 12 |amw
19 17 42,5 3 2 Nl
= T 425 5 25 67,5
Tl 7 42,5 3 ik sl
5 = W25 5 25 67,3
- = 175 5 25 67.5
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T Test [ Test 11 Total of
NCA | Score | NCA | Score 5:;;“ F F(X)
24 17 | 4235 5 25 67,5
25 17 | 425 5 25 67,5
26 17 | 423 5 25 67,5 8 540
27 15 | 373 ; 30 67,5
28 15 | 3735 b 30 67,5 2 135
29 16 40 5 25 65
30 16 40 5 25 65 2 130
FX) |[21375
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The table abgye shows the students' score that arranged from the highest to
the lowest score. It can be explained as follows:

One student gets 19 correct answers in the test [ and 7 in test [1. This students
gets the score 825 for 26 correct answers out of 30 items and he is classified as

excellent.

One student gets score 80 and it is similar to excellent. He gets 18 correct
answers in test [ and 7 in the test 1.

Four students get 18 correct answers aut of test | and 6 oul of test 1. These
students get the score 75 for 24 correct answers out of 30 items and they are classified
a5 good.

There are |2 students who get 17 correet answers in test [, which equals with
425 and 6 correct answers in test [] which equals with 30, Their scores for both tests
are 72,5 and they are classified as good.

Ten students get the same score that is 67,5, but they have different correct
answers, They are as follows:

a. Eight students get 17 correct answers out of test [, which equals with 42,5 and

5" correct answers out of test I which equals with 25. So the total score is

67.5. It is similar to the criteria fair.

b, Two of them have 15 correct answers in test I get score 37,5 and in test I they

get 6 commecl ANSWErS which equals with 30. Therefore, the total score is 67,5

and they are classified as fair.
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VO students get 16 correct answers out of test |, which equals with 40 and 5

COMTect answers in test [] which equals with 25, Therefore, their total scores are 65, It

is similar to Fair,

Now, the writer will determine the students’ mean score by using the formula,
which has mentioned above, From the table 3, we can see that:

Fx=21375 N=30

Therefore, the mean score is:

M ==

= {0

M=2137.5
30

M=7125
The average score of the students in using English adverbial clause is good.
The students’ mean score is 71,25 and it is classified as good based on the criteria

that is wsed.
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| CHAPTER Vv
CONCLUSSIONS AND SUGGESTIONS

This chapter discusses two sections. The first deals with conclusion and the
second one deals with suggestion,

5.1 Conclusion
After analyzing the data and discussing the result of data analysis, the writer
can conclude that:

. The students’ ability in using adverbial clause is good. It can be seen in their
achievement based on the criteria that are used. There are two students
classified as excellent, even though they got different score in the test. The
first one gets 82,5 and the other one gets 80. For the score of 75 — 72,5, there
are 16 students (53,3%) are classified good. There are 12 students (40%) peat
the score of 67,5 — 62,5 and they are classified fair.

2. The students usually choose inappropriste conjunction when they combine
two clauses into one. The errors often done are, as follows:

a. When they should use as soon as in forming adverbial clauss of time,

they often use the wrong conjunction in placing the adverb of as soon
as.
b, When they have to form an adverbial clause of time by using before

and when they have to construct adverbial clause of contrast by using

while.

a7




TrRILTreS

G w&.qnﬂ}e},

should use wmiess 1o construct  adverbial clause of
condition, they use the Wrang conjunction in forming it, The similar
thing alsn happens when they should use as in forming adverbial
clavse of canse.

The students highest’ score in using adverbial clause is 82,5 and it is classified

excellent. The lowest score of the students is 62,5 and classified fair. The

mean score of the students is 71,25 and it is classified good based on the

criteria that are used. This gaod criteria also represent the students’ ability in

using adverbial clause.

5.2 Suggestion

Based on the result of data analysis, the writer would like to offer some

suggestion such as:

The students are suggested to read more references of English adverbial
clause to increase their knowledge of subordinate conjunction that will be

used in forming adverbial clavse, especially umless, before, as soon as, as and

while,

2. The students are suggested to pay attention to the rules of grammar, especially

the rules in constructing adverbial clause.
The teacher of English at SMA Negeri | Benteng Selayar is suggested to give

more cssay lest as an exercise to improve the students’ knowledge about

English adverbial clause.
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4. F
or further researchers who gre interested in doing the

research, the writer suggests 1o investigate the students’
adverbial clause
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Multiple Choice Type
Put ¢ross {(X) your choice a, b, e d or e as the right answer
1. My father was very angry... | failed in my examination,

a. where ¢. although e, because
b. wherever  d. than

2. She was so lazy.,. her teaches often punished her.
a. as though ¢ as spon s e. as if
b. unless d. although

3. Hanny was in bed. . the telephone rang.
a.asif . unless e. when
b. Whenever d. as though

4 Close all the windows. . . You go out.
a. Unless c. Afier e. Until
b. before d. Since

5. Pilot will go to America... he get his visa,
a. than €. 8% 500N a5 e. where
b. In spite of d. while

6. My father never goes to Mall... my mother can go with him.

a. unless c. a8 if e. as though
b. after d. before

7. ... Jumria comes back to night, we will go to Restaurant.
a- So c. If e, Wherever
b. As if d. As though

. Ros Diana was in the bathroom. .. | came to her house.
a. when c. In spite of e as if
b. where d. If

9, Sitti will phone me... she finishes her homework.
a. although C. 45 5000 a5 e. as though
b. where d. than
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10 Arianto will tell Asty the news... he sees her,

a. than ¢. where e If
b. as though d asif
L. Yusuf has his breakfast. . he goes to his Office,
a. unless C. &% S00n aj e. before
b. as though d. than
12. Sabri will not win the mateh__ he plays well.
a. until c. when e IF
b. unless d. because
[3. ... Amir felt very tired, he tried to finish the work.
a. until €. than €. because
b. where d. although
14. My father has not edlen meat again,,.. he got high blood pressure,
a. since c. until e if

b. although d. than

15. They left the party at 10. P. m. ., they had to get up early the next day,
a. wherever o as e. unless
b. where d. when

16, Mr. Andy has been working hard ... he moved to this offiee.

a, since c. than e. as though
b. wherever  d. if

17. Ani is slecping... Nur is cooking in the kitchen.
a. unless c.asil e. than
b. while d. wherever

18. Some students spend their spare by time reading... the other watching television.
a. afber & while e. before

b. unless d. If
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19... It is raining heavily; we had better cancel OUr picnic,

. After <. Even though €. Than
b. Until d. As

20. Adi will not attend 10 the parly at your house tomorrow... he has a bad cold.
a. because ¢, where €. than
b. even though d. until




Essay Type

Combine the following clause by using an appropriate eonjunction. The

conjunctions are available in the box below,

L.

2.

8.
9.

He lived in the city. He has taken a bus to his office.

You will be late. You go in a hurry,

They lost the game. They practiced playing football twice a week.
It is raining. There are usually thunders.

Some students play in yard, The others eat in canteen.

. The passengers got off. The bus arived.

The robbers left. The police came.
She was scared. The little girl cried.

She works hard, She may be successful.

10. We had better cancel our picaic. It is raining.

before  since where
= s5 though  unless
because wherever  aithough
than if while

when  assoonas  asil
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